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°C m REOBE | REOFE | EEOEE |EE0EE| REOFE | EE0RFE
1 & i
2 4t
3 |
4 B
5 P3
6 7K
7 FS 2 19.4 0 i i i i i i 8:00~FEHLEERFIAE
8 & 2 18.4 0 i i i i i i
9 e 2 18.5 0 i i3 = i i i
10 B 5] 18.8 0 i i3 = i i i
11 A = 18.9 0 i i i i = i1
12 DN 5 19.5 0 i i i i = i KERIE (PIK - RO (PZKFEERO) )
13 K 5 19.6 0 i i i i = i1
14 * 5 20.1 0 i i i i = i1
15 & 2 20.2 0 i i Eii i i i
16 e 5] 19.8 0 i i3 i3 i i i
17 B 5 19.8 0 i3 = i3 i i i
18 B 5] 20.8 0 i i i3 i i "
19 % 5] 20.5 0 i it it it i i KERIE (PK - RO (PZKFEERO) )
20 K i 20.2 0 i i i3 i i "
21 x i 20.2 0 i i i3 i i "
22 & 2 20.5 0 i i i3 i i "
23 s 5 20.7 0 i3 = i3 i i i
24 B 2 21.0 0 i3 = i3 i i i
25 B i 21.5 0 i i i3 i i "
26 X 55] 21.8 0 i3 Fiid i3 Fiid " i KEAIE (RUK - RO (R7kiER0) )
27 K £ 21.9 0 i i Fiii Fiid i3 i3
28 & £ 22.3 0 i i Fiii Fiid i3 i3
29 & i 22.3 0 i i Fiii Fiid i3 i3
30 e 5 22.3 0 i3 i3 i3 i i i
31 =l 2 23.0 0 i3 i i3 i i i
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